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1. At the beginning of January 2000, Richard Poore deposited $10,000 in a tax-free savings
account that paid 6% interest, compounded monthly.

(a) How much did Richard have at the beginning of July, 20027
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2. For each of the following functions, find g'.

(a) y = 7(z—2)(z+3)
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4. Find relative minimum and maximum values, and the critical numbers at which they occur,
for the following functions:
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5. Given the function f(z) = —

(a) Find the z-intercepts and y-intercepts of f(z) if each exists.
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(c) Find the relative minimum and maximum values, and the critical numbers at which
they occur, for f(z), with intervals of increase and decrease.
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(d) Find the points of inflection of f(z), with intervals of concavity.
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(e) Sketch the graph of f(z) =
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6. Suppose the total cost, in dollars, to produce a product is given by c(q) = 0.05¢% + 5¢ + 500.

(a} Find the marginal cost, and evaluate it when ¢ = 10.

/(9] = 200053 +5 =9 19 £5
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(b) Without using a calculator, estimate the total cost when ¢ = 11. Show your work!
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(¢) Find the average cost, and evaluate it when g = 10.
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(d) For what level of output will average cost per unit be a minimum?
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